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Simple Word Problem: Subtraction without Regrouping

There are 227 pupils in Scheel .

Steps to Success: There are 143 girls in scheol.

l. Read question carefully
2. Highlight key points

3. Draw bar model

Y. Label

5. Add or subtract? l

How mMany boﬂs ave +here 1in
the School ?
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737

660 people were watching a football match.

There were 320 children watching.

How many adults were there watching?

There were . _______ adults watching the football match.
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Mr Rahim had 2856 game cards in his shop.
He sold some, and had 832 game cards left.

How many game cards got sold?

There were _________ books in the library altogether.

Raya baked 3675 cookies.

Raya baked 575 more than Lina baked.
How many cookies did Lina baked?
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Lina baked _________ cookies.
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